= =
X n+ %
T % 4 Fr e X AR A EE L O S T
N WohmisE - TH1I—1
b1 BRIFERE RS Sf 54 28 28H%T
- BEUE
% B AE 2 PR E

- EREICHO R TR 3K




Hh o P AR S EE ML S T T MRS FE AR N AR E
it (L) & 91,982,000
T = i #% & 83,620,000 [
M B %0 & 8,362,000 1




& FRRELENEMBIETSE No.
£ b1 i3] = Hf {i 28 f
[ERERE - g
1| &ETH 1 = 63,675,995
[ERENEE s 63,675,995
Jam ey
I| mEERE 1] =K 3,114,621
| BigEss 1] =K 6,838,474
— R 1] =K 9,991,466
HREG 19,944,561
&t 83,620,556
TSk SREES A= UE e 83,620,000
B 4 8,362,000
WEFH(LHEE)

91,982,000




% FR FRRELENEMBIETSE No.
% L i = B i £ &
I |BEISE
1 |ERERGER 1 = 18,761,758
2 |BhkekfE 1 K 11,238,694
3 |AMEENE 1 =X 28,118,063
4 |EEKE 1 K 1,021,558
5 |-y 1 = 4,535,922

63,675,995




